Day 6 per8-9.notebook

September 12, 2019

1. (x+2)(2x+3)
2. (4x-3)(4x+1)
3. (x-6)(x-1)

4, (x-3)(x+2)

B. 2x(x+1)(x+2)
6. 3x(x+1)(x+3)
7. 3y(y-5)(y+1)
8. 4m(m+4)(m-4)
9. x%-3x+1

10. -2x%-7x+16
11. -9x%+2x-2
12. -10x3y*z3-35x3y?29+15xy*z*-25xy 23

1-5 HW Answer Key
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Alg 2 Homework 1-5 Name _[Cec)—
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Faetar a@#s 2and 4. Remember ta check by multiplying the facters.
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Factor the following expressions completely.

B, 3%+ 6x% + 4x ‘9;.;'15:’} &, 3 + 12%° + 9x -3, S;L"Ir
= X (3R +2) 1y =Zx( ¥rrix +3) ¢ 13
=2 ()X = ax(AHJU3)

7. 3y - 12y - 15y ?;/).V‘\# 8 4m’ - 64m
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Simplity by re-writing each polynomial in standard Torm ol Ter appryTrg The
operations in the appropriate order.
X =2X 34!

9. (x7 = Tx" + 13x - 4) = (x-4) y-—-.'-f J){i‘"" -?Ki_‘, 13K —-I_‘\f
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—Sx e +3x
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10, (55 - 4x+ 7) + (-3x + 9 - TxF)
= =Xt e

11, Subtract (3x° - 2x + 9) from (7 - 6x%)
(7 -6xt)- ( 3xt-ax+4 )
Y L T

i P Sl N e

12. -Bufyz'(2xy? + Tayz® - 3y'z + 5x%) X" X
R L P 3 2.5 2 359 _ a2 g 2z
fwﬁf;i 35)(}21*1‘5?{'# 9
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1-6: Sum/Difference of Cubes
Warm-up: Factor Completely.

1. x2=25 =(X+S)(x- S) 2.x4— 625 = x%25) (x* S
= (X XS (XH2S5)
-i"", PRy 2-

Mu-LM(’&g_
Isx?-8=(x—-2)(x—2)(x—2)? Algebraically justify your answer.
x3-—8 = (x =Yy +O((-2)
x>~ = x (% i) 2L Xortc L
x2-€ = Ay A +Ex -
Y% = xP—ex ~ax-§

NO — nsx = .
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We can factor binomials that are sums or differences o. { @ First complete the
followingtable to prepare for this factoring method.

X X" X
Integer | Square | Cube

1 | l

2 Y 3

3 7 27

4 |6 | by

S 2S [ /28
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Factoring sum or difference of cubes:
(_“‘"f— {\wS
@+ b3=(a+ b)a*—ab+ b?)

a®—b3=(a-b)a*+ ab + b?)

on =X )

Example: Factorx®—8

Thisisx? — 23, so we get:

x3_8:L3_ 3 L
(K5 2x + )

- (x- W) (XY

xﬂ’ﬁ
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Try these. Remember Ca+ b= (ai b)(a? Yap ¥ b?)
a@—-b3=(a-b)a*+ab+ b3

Lowes= () AY2D 5 psa(yes Xfl*§3+§>
a~ ‘,/3’)( “*(X‘f"\)()?::x"‘q> o= "j” =} = )
o= =2 =5 (G
G ab +b*-
.06 2 (X )(KHYx+ 4D 4 64X+
a= X F(X~¢Xx5hred A 2o\l
b= 9 b=x
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5, 64x3+1—~C‘1)(4-l)((q¥)1'7'X+’1) 6. 125y°- 1__(5% ‘}((5)2'-5-51‘\‘{1)

= = D16 Y +0)
oG el G <oy Do)

Factc-r the following and verify that the factored expression is equlvalent to the c-rlgmal

3+125 — (‘3 +S>(:9 _$;+5’§ ('j\ea/L_

c—

= = (g4 U=59RS) | = 4y (Y =Sy RS)

_ YroNg =4 JrOG I
= (G G
R
= 515 +125
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o+ 64 = (Ot 9%) ek
= (ep) (Y= =1x +16) (k) (K= CxF16)
= xyxIexHx — 1K FEY
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